
Cards
Beto is playing cards with Xavier, Dickie and Charlie, Luis, as usual, is the dealer, then, he deals
M cards to each player, then, he puts N cards flipped up on the table and S cards flipped up
below the other ones, now, each player can play as many cards they have in their hands as long
as the kind of the card is shown in the S cards flipped up, at the same time, the kind chosen must
appear in at least one of the kinds shown in the first N cards flipped up.

 

The player must choose only one kind of his all hand and play it along, the game continues as
this, The player puts his card on the table, and then he sums to his/her count i*j where i is the
number of the placed card (starting from 1) and j is the number of the card (from 1 to 9), you are
ask to maximize the sum of the result and show the kind that must be played to achieve this
score, in case of tie, break the tie by choosing the lexicographically smallest kind.

 

INPUT DETAILS:

The input starts with three integers N,M,S, each of one denoting, respectively, the length of a
string S1, the cards in the hand of Beto and the length of a string S2. Then, M lines will follow,
each of one will denote the description of the cards in the hand of Beto, every line will contain
two characters X and Y, the first one will denote the value of the card (from 1 to 9) and the second
character will contain the kind of the card (from A to Z).

 

OUTPUT DETAILS:

You must print a character and an integer, the character must be the best kind for the selected
combination and the integer must be the best selected combo of the cards. The character and the
integer must be separated by a single space.
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CONSTRAINTS:

1 <= N <= 26

1 <= M <= 10000

1 <= S <= N
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